85. MEMEE (EIREXR)

e 2005 (HIT)AE10H1H (5 44)

AL % {71 64. 8
AT | #BE AT R4 # i BT | HBaE T R4 # i
€ E5 67.2 24 e = 63. 8
1 W iy 77. 4 25 H 2 63.7
2 e i 76. 3 25 5= % 63.7
3 = [if] 73.0 27 = i 63.6
4 i A )l 72.1 28 = iy 62.9
5 |© F E 72.0 28 [if] [ 62.9
6 b ¥ & 71.3 28 7y =X 62.9
7 N 13 70.7 31 Tk K 61.6
8 = 75 69. 7 32 & I 61.5
9 I # 69. 6 33 % g3l 61.3
10 25 B 69.5 34 57 = 61.0
11 = I 69. 1 35 x I 60. 8
12 B * 68. 4 36 Hr s 60. 7
13 = JéE 68. 2 37 A = 60.5
14 IS = 66. 9 38 =1 il 60. 4
14 =3 5N 66.9 38 = i 60. 4
16 BR S 66.7 40 $=1 + 60. 1
17 * 45 66. 1 40 (g Fl 60. 1
18 o ) 65. 4 42 jica = 60. 0
18 & ) 65. 4 43 & [if] 59. 6
20 1] [ 65.3 44 i K 59.5
20 i VN 65. 3 45 & = 59.3
22 Foodko 64.8 46 (L A 58. 2
23 = R 64. 1 47 = it 57.0
80(%) L (E3NEL)
75 - I
70 HH] 1
65 1 1

ittt

*g%ﬁﬁ*ﬂm%ﬁ*ﬁﬁﬁiﬁ%ﬁ%iﬁ BLUREHE=ZZRAEFNESEALLUEETESEEREXER
i = B/ "
EERTFHEARSHARERIBLIAXNTERMELZMRERILERLSE O )RR TGRS SHE

(€] )
- ERHEAT RBERER ERITHE 2R
- FHTE B 3 IRFEEMET - shEHRELX 100
- B % TEROE SRFEEREELIL,

2,124, 422 \ T6/7,

A EIL, 41,328,993 A,
) SIRFEHIL, BX - A - BiLE - KEE,
EHEE %, s, e - /e, &Rt - RIR
¥, FEEZE, RS - EmRE, B OE - B
HE - FETEE, Y- R¥E, ABEOEG,

jas




